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1. Suggest the suitable reagents for the following conversions : 15
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Using retrosynthetic analysis suggest suitable method for the synthesis of

the following : 15
@)
COOEt
@) COOEt
O
Br
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Br

MeO
© MeO

O
NR

O,N: NO,
(d)
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3. Solve the following :

(@)

(b)

Use suitable reagents and mechanism for the following conversion : 8
@) 1
ey -
O OSiMes
v @ G55

Or

H

@)

Using concept of protecting functional groups how will you protects
the following :

(@) Alcohols

(it) ~ Amines

(zi1)  Carbonyl group
(tv)  Double bond.

Predict the product with mechanism and justify your answer for the
following : 7

CH,—COOH

. DCC
@) —
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O
| CH,N,

(i) CH,=CH—C—Cl ———>

Or

How will you synthesis the following compounds using Ketene :
O
@)
O
O

4
o

Cl

D
@i2) /I|{

4. Solve the following :

(@) Using knowledge of retro-synthetic analysis suggest any four different
ways for the synthesis of the following : 8

T
CH3—?—OH

CH,

Or

Control of enantioselectivity in the following carbonyl condensation :

O

@)
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5. (A)

( 5 ) ATl—192—2017
COOH

@ o
Discuss the retrosynthetic analysis of camphor. 7

Or
Using rearrangements in synthesis, how will you synthesis the
following :

COOMe
@)
(ir)

R
Select the correct answer from the following alternatives : 5
)] If there is a choice to disconnect which group first disconnect
in the following :
CH,
Cl

P.T.O.
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b) -CI
(c) -H
(d) Both (a) and (b)

)
The best synthetic equivalent for NH, is :

(@) NaNH,
b) HO—NH,

I
C
\
NH
(c) C /

Il
O

NH,

(d)

Synthetic equivalent of 8H3 is :

(@) ~ CH3—Mg—Br

(b)  (CHg)yCulLi

(c) CH4Li

d) All of the above

Diazomethane is source of ................cceeee.. carbon.
(@) Nucleophilic

(b) Electrophilic

(¢)  Both (a) and (b)

(d) None of the above
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(v)  The most stable acid derivative is :
(@ R—CONH,
(b) R—CO—Cl

i
©  ®C30
(d) R—COOR
(B)  Write short notes on (any two) : 10
@) Synthesis of six membered ring

(z1)  Use of Nitro compound in synthesis

(ziz)  Umpolung concept.
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